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§ (1]
3% -e*F-‘rgnIOIi:
&
""_a‘x+b+ﬂx) Done

msolue(f(2)=6 and f(5.25)=.8,<{a bd)
a=2.00008 and b= -3.0000

.| L

- i igedirafl gl

6

*f(x)|a=2. and b= "3 72,0000 % -3
sy + ()
AN ®AD AUTD FUNC 175

e e, 3 :_ T ? g(x) Done
ug(l1.7) 10.0000
" g(4) 4/5

= solve(a(x) < FO), x)[1.8$x < 4
1.80002x24

» soluelF(x) = 8.5, X) x = 1.8529

®solve(g(x) =8.5,x) x=1.7353
= 1.8529411764706 — 1.7352941176471

o %[g(x)) +>dig(x) Done
® dial4 - 8,25
ﬁi-if.?ﬁﬁﬁ&ﬁﬁzzzﬂm

MAIN DEG AUTD FUNC 5717

)
= 5 (90x)) # d19(:0) Done
= dlg(4) -8-25

= tani( - 8-25) ~tani(8-295)
® tani( - 8/25) -17.7447
m|-17.744671625057] + 90 107.7447
-4
%0 FITT
) :
MAIN DEG AUTD FUNC 18/30
[v i—-—kl;:'bra ra’lvc. o{ﬁ;rgi_fnm& e;‘r: Upl i
1.8
GII.?(IB—q(x))dx .1891
-I‘; 5 (F00 - 200)ax 2.1263
-[2‘25 FOOdx 1.2164
« . 189069783784 + 2. 1202635362002 + 1. 2163
: 3.5257
.202635362002+1 .2163953243249
AN DEG AUTD FUMNC 2Z/30




